
	GiVA-11  

.11i 	c3AY€ _SkoWVI 

ReNiytot 	 LI "1  
flja Y144 	PO YCeS 

co t-wirn 

C 

.50141 S n7+1 

CE 203-112 

Solution of HW # 
P. 	/to 

Pyo 6  Lepyi 44-   i 
911•11•11.111.

11611Z• 

c( 4- 	 E . E is jusi- 	 t.f 	,geo-AN 104. 

So lUt 

ri f 	w 	 f. 	(-0 
  

el-le 	cif A 	  
No 	-€1143-1 	w-e- 	v) ,e-ed 	to 	 seea, 	f11

-Q 

ir'em 	 0-11- Yvial 	kii-Lv/-fii-1 	e 
ygs,,,v, 1-1 C5 ) 	C W 11,1 7 ) ) 

tvi 

= 	 
	180 (A) 	. .. 6 	4 — 	0 	 

= 	co 	AN1 	 

	

Cl 	na 	 

1•4 	, 	w 	34 f• k -e or 

see,4- 1. 1/431" t-tiv-Q1451.1 	 F-13Dqi 
Lake 	left- 	(0 eyi.„ (Ls' g 

 	kezvsei--k 	 Ft3 0 • 	  
F 90  kW  	Ft-- 	 go( `,..1.1 `)  	8...c 	k t\I 	 g "iiksl 

	

qt-t 	4414 	poio  	ivtb 	 
is   	Gi l'  51s"ri but" 	 

w e " CL4 	" 

	

ty 	t tke e yeriqc.„..  4j4E,  

	 i.  	

6o ic-N Ii 51Y ii•uf.e,/ j ote( 	44,4

sL 	/act/  	 e cm,  	:7 	C11- 	 eltAeVek-tiet 

-k- 

 

N i) 	—0 	  

  



13 . 2/0 CE 203 - 112 

Solution of HW # 

rn  0 
	g 0 — 80 

	 Mo+BOCY5) ,GoCc1);-_--c 

im 	.7- 133 	I 

W € -ey vict 

(5- ? Gy 1  F0 1) 

-11 
6c - 16 o - 	— 

1 \1 lq  ° " F      

ISO kN 
09,0 kiv I 

ME 

+ 	>14, 1 , 5 	vle. 

6o KYV 	- 
FB DO  

(VIE  

C- X 1- i ck 

II' 	4 	y 5  1- 	fav(- is ci-03.“-4-7,........ 	Lti42. 	rah  

Q. 	a yttAAn 	q 	ol 	 YR q 

-T14i3 cAtA, ‘e d 	1.)  -Isaki.413  4-1-IR  Fab c7L4 C 
r 	 p. 	 Ca rLt  
E Fs)  0 	 Cn jcAf t 

-,- 0 	Mc_ 	—390 k(v ,,41 
.?cf  

ji  I 8 cl 	11 ,1,e 

1- 11  04-1 4-kk 	(311 eq iN LS' 	 elt 

	44- 	441 	Y C+ 04-1A7 f . ...  , • 	mc 
f'f; k3 	 Wic 	et= -11.Q 

WF 

Iqo 

iq 	ki) -HA IR 1E Pt- 

	 NI  0 .;.- -;4c kNif 

-!Bo 	l 



1■1 c_ — 0 0 C.oc b e+ 	e, Cog 6  

=-. 	2  KA)  I 04414 c/oel "CC 
C 

9e.s. ig.A] 

CE 203 —112 
	

P. Nio 

Solution of HW #1 

protte.41 4Z 	 

 

	 100 

 

  

           

 

71t 

     

Alt o Lail 

 

           

           

RO7us;. e 

      

      

TR_ ii‘tcrelgi 

   

            

co itt -tioA : 

vitt  4(e) 1. fi n d 	o ci-onr ft;-4-1- 	( (4) ft) ? ')  

F1 	1-oy 4(t. 	Piru clure 	air a rohJI 

?OD 
?1)( ro-D CoS6t;) —  Co  v  Cvg g 	o Coo 

Too 

4x 	— lOti k./O 

Ott KA) .4— 

-÷5 zA44 = 

5 (4 cos ro"÷ Ccs sg) 7oo a cos 30 

+ 0 0 Cos Go° 00) — 6.0s ,h 6.c. (.3 (.110, t  cc.,309 _ 01)(3) = 

+1' IF  =o  

 - 	  

Matte 	ce c„4 , 	7,,  e ot.ti 	C 	 ILL left patrt- L  

(0', At 
(DM 4,12 F8   	Nic 

= 
J 

Vc  -4- Ivo r:n o °  -1– 9 es% DCS'Lei 6o° 	0  

[V c.. 	903 .1 kA31 	 

af--) .2.M4  = 0 	 — Vc  

=  /3T C K  NA I 	  





549 P. 

	iy-oo N 	 

- 	 / 

A 	 

1,,c  j)  Etre 

4-Dva 	N f 	  lotiN 
ie•—• < DO  

6  = f -MAIL 
4 = SLAW'  	 

-E. 

6 o N u_ 	c_D = 0 

C 	 
fi 

1 a7/4 .0er"  
Z orig 	t; OE 

CE 203 —112 

Solution of HW # 1 

R.9 tCre  

e 	4.1a.) es 	 Co-14i)41 	f 	C-)C :Ai L4-04 ten ■ 	oitt,re.0 •,44 SYregel 

Co (cited  

toe 	tot  J 	ciadc 	 Iffefml ice a;,1 	(wtt 7  . r). (tt uc, 
 ("Lc 

al-et 	 F8ofs 	al Sql..0t.o4 . nl  of -1G..41-  

otc 	rtitit 	P arks () a1( • kbt 	1  'ice 
-IC, 	Pr.,fs CA fa m.e. 

-1(0-1 .1 it- 41, 	 cr  • 	„t-v 	t;1 .1.4, 	We cvt  

ft q c 0;1  

E 
=war 

N j

— 

 eon    
C 	 °CI 0 4  

AIDE 11:  0 0 	CT) Nil 

2-0 Tel P4 cr) 

2-  cc  
Nom =  ""fr 

az•s OP. Cc ) 
	3 LC/0-4  

t 

0 — 6 0r0 -••• 	÷ 	— A.44  

2oo N 

4+ 0 1.1 	6ob  
OrJ uaN 

6' = rs /41tP 	14 6 

4s at, 24`14-4 (Am* 

ca 0 	—CA 411.mild 	 Stow Le lo -w 

km FM Ay  dra-4,)  'to  a1 

.=> Mats 	6 0 b 	Cr) 	 

6o 0 = i 2- Pdt Cr ) 
	5-0  



CE 203 — 112 

Solution of HW # 

4a 

P. 6/to  

2-0 1) 

- 'f- o 

-OD 

1 2- 

6 

2.0 





CE 203 -112 
	

P' 940 
Solution of HW # 

-  3 z ° F 	C•r)  41L 	  

FAc  =-• 	oro F 	CC) 

	[  NOE to l 4 we kame. 	te  

6:1 	nv)  of  F 
N ow, 	 c 
S to, t 	tAsit( 

+t ZF 	0 	(1,v i,?!) 

reg  so B — e.caoF co s p 

"--)  re-8 	2•  24- F 	CT)  

0  

le S Li; IL (Vi t-td ems as 

	

Fc0 — 2  • Oef Pu;  — 	cos (0 = 0  

Fe A  == ■  a  •  cf--  0 F 	c c )  

N 4.4 ,   b : 
N 	 tt, kk roil 	4 	- fewe 

Q..- 

At Air Sigle 	we Cal cg 	if_e 	Ca S A .1,1 4144 	.  	 

wee_ 
	

tip( Mon L L.-3- is 161 _Peon t  

	  . 	
Cni ■ 	le 4.1 	Em.:1 I  

ostIrc  

IC 	be 4-  

F At 4.< 

t 

fi 

150 (iv) — 	 Ft 

Co o ( to)" 

o 
	ex.*  
	 F mAx. 

= 33 V- 2.  'CV 	Ire 	I 

 

 

= Fut, = 2- -o F 

   

   

   

	*tax- 

 

    

     

18-0 (") 	= 	2  ' rat.x. 
S-00 (to)'"T 

• 

•• Fcg  = v- • 2-4(- o  

41 	(1,„ 	2 • 2-4/- FAto, 

?7-r-  kn./ 	r  • 	C  

r ilt.c.x41 44,ssi  F 	 ate/ C. 	rtl  Q clAruk 	iN41 41( Ge" *.  

('41 ? ) 	 I  Fill coc  •=- 33 • te IC4  





p ;Oh 0 CE 203 -112 

Solution of HW # 1 

2 	------ 	ziaN 

0 g 39. K 3 Cos C b 	f-f--2 	0  ( 94) -  

(00 00) -6  

Fa 	56 2. 37.-  14 

-crac S 6 4 •  r2. (rat 	- z i4 p 	< <
C r) 

• • 	 ,,,,,,,, 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

